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���� ����� X ������������ ���� ������� P (X) � �
�� �� � n ������� !� X �"#$ %�& ��

'A,B ∈ P (X) �� ���� � f(∅) = � �$ �"#$ (""�� �) f : P (X) → {�,�} *����

f(A) + f(B) = f(A ∪B) + f(A ∩B)

�����

+"���, A ∈ P (X) �� ���� ��-./ ' f({x}) = � ' x ∈ X �� ���� �0� ����� 1���� ("#2 f +"#$ %�&

�$ ���� (3�� � � 
���� (��4�$ �� �������� A �"#$ %�& 5)�6#�� �"7 )
 ���� �f(A) = �8��


+�)�
 �y ∈ A � f(A) �= �

f(A− {y}) + f({y}) = f(A)

�89� :;�#� )
 A <�=4.� �� �$ f(A− {y}) = � ��"4. )
 �

�89� �>? 8��@ *��� f 8A�B (�� )
 (�����#�

��-./ b �= a � b ∈ X �0� .f({a}) = � +"��� �4��
 a ∈ X !� ���� +"#$ %�& C�#$�

� ≥ f({a, b}) = f({a}) + f({b}) = �+ f({b})

� f({b}) = �DE

�89� ��� 5)�6� f *��� �$ +"#$1� ��
� C�#$�

f(A) =

{
� a ∈ A

� a �∈ A

��-./ a ∈ A �0�

f(A) = f(A− {a}) + f({a}) ≥ �

�f(A) = �DE

��-./ a �∈ A �0�

� ≥ f(A ∪ {a}) = f(A) + f({a}) = f(A) + �

F�? �A�	
� G�� )
 F�& �	H��I �� f *��� �$ 
�$ ����J� 10
�9 �� C���1� ��"0� � �� �f(A) = �DE

*��� n+ � 
���� 1#�� �
)�
 
��� 1#"#K#�� *��� !� a ∈ X �� ���� '�>? 8��@ *��� �� ��L� DE ��#$1�

�89� 
���� 8"?�, (�� ��
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a �� �$ ���� ��0 (�� )
 �4
� �
�9 +, !� γ � ���� 1�"�M� a N$�� �� ���� ��0 ��) f �"#$ %�& ��

n 1�"OP 
�� �� ���� �$ 
)�
 
��� ��0 (�� ��) g �#.�� 1�"�M� 1���� �"�
 C�J. �
)Q01�.
∫
γ

g(z)

(z − a)n
dz =

∫
γ

√
nf(z)

(z − a)n
dz

�����

�A�	
� R9�E g 1�"�M� *��� �� '���� γ +, �� S)�, a ��HT. �0� ����� �U. 
)�� ��0 Br(a) �"#$ %�&

�89� �>? ����� �A
��� V�P �
 �� ���� 89�

+�)�
 f *��� )��"� W
� � 1J$ 1A��-4.� ����& �� ���� �� '���� γ +, C�)
 a ��HT. �0�

f(z) =
+∞∑
x=�

an(z − a)n , ∀z ∈ Br(a)

�

an =
�

�πi

∫
γ

f(z)

(z − a)n+�
, n = �,�,�, . . .

X� � � D E limn→+∞
n
√√

n+ � = � C� 2 'g(z) =
∑+∞

n=�
an

√
n+ �(z − a)n + " �
 )�� ; 8
 " &� $

n �� ���� � 89� 1�"�M� Br(a) ��0 ��) g 1#�� �89� r ����� Y;��B N". ��9 (�� 1���-��
∫
γ

g(z)

(z − a)n
dz = �πi an−�

√
n =

∫
γ

√
nf(z)

(z − a)n
dz
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14=���� �
 f, g : R → C �"#$ %�& ����� W�4=� 
���� ��T�B C � )��3� ���T�B R �"#$ %�& �	

�f = g �� f = g �"#$ 8��@ �|f(r)| = |g(r)| 'r ∈ R �� ���� �� �$ �)�P �� �#��� ���T�B

� T (x+ y) = T (x) + T (y) 'x, y ∈ A�� ���� �0� 
��1� ��"��. 14=���� B �T�B �� A �T�B �� T *���Z

[�T (xy) = T (x)T (y)

g = � �QA � � = |f(r)| = |g(r)| +�)�
 r ∈ R �� ���� �� ��-./ f = � �0� �f �= g +"#$1� %�& �����

+"#$1� ��
� �g �= � ���J� \��P �� � f �= �DE �g �= f C�2 89� :;�#� �$

f(�) = g(�) = �

����

f(�) = f(�× �) = f(�)� ⇒ f(�)(�− f(�)) = �⇒ f(�) = � �� f(�) = �

�f(�) = g(�) = �DE �89� :;�#� �$ f = � �QA � r ∈ R �� ���� �� f(r) = � ��-./ f(�) = � �0�

+�)�
 r ∈ R �� ���� �� ��B

{
|f(r)| = |g(r)|
|f(r + �)| = |g(r + �)| ⇒ |f(r) + �| = |g(r) + �|

⇒ |f(r) + �|� − |f(r)|� = |g(r) + �|� − |g(r)|�

⇒ � Re(f(r)) = �Re(g(r))

�Re(f(r)) = Re(g(r)) 'r ∈ R �� ���� �� ��"4. )


�f(r) = g(r) �� f(r) = g(r) 'r ∈ R �� ���� �� �$ +��"01� ��"4. |f(r)| = |g(r)| �3#�� �� ���� ��

+"�
 )��; �0� ��B

A = {r ∈ R | f(r) = g(r)}

B = {r ∈ R | f(r) = g(r)}

��-./ A = R �0� �B = R �� A = R �QA � R = A ∪B � �
�� (R,+) ������0��� []�I� ��Z A,B ��-./

�f = g �QA � B = RDE 89� :;�#� �$ f = g
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*��� �� ���� ��0�� +"��0 ^<�,_ �) f : X → R ��49�"E *��� ����� !��4� �� & !� (X, d) �"#$ %�& �


'<�, *��� �
 X���� �"�
 C�J. ����� �
�J& {x ∈ X : f(x)g(x) = �} ������� g : X → R ��49�"E

�89� <�,

C�2 ����� �49�"E *��� !� g � <�, *��� �
 f� � f� �"#$ %�& �����

{x ∈ X : (f�(x) + f�(x))g(x) = �} ⊆ {x ∈ X : f�(x)g(x) ≥
�

�
} ∪ {x ∈ X : f�(x)g(x) ≥

�

�
}

������� f <�, *��� �� ���� +"#$ 8��@ 89� 1&�$ '89� �4
� ������� !� `2 8�9 ������� �

�89� �
�J& {x ∈ X : f(x)g(x) ≥ �

�
}

�"#$ %�&

ϕ(t) =

⎧⎨
⎩

�

t t ≥ �

�

� t < �

�

C�#$� ��
�
≤ t �0� �a#� � �0� ϕ(t)t = � � 89� �49�"E ϕ : R → R 5)�6#�� )


{x ∈ X : f(x)g(x) ≥ �

�
} = {x ∈ X : ϕ(f(x)g(x))g(x)f(x) = �}

�89� �
�J& ������ (�� DE 89� <�, f � �49�"E ϕ(fg)g C�2

�89� Y��$ 5�O@� C�#$�



�����������
 ����� � �����
���� ������������ � ���
������� ��� �	
��

�$ �)�P �� ���� �49�"E 1���� f : [�, π] → R �"#$ %�& ��
∫ π

�

f(x) sinxdx =

∫ π

�

f(x) cos xdx = �

�89� [�, π] )
 �J�) �
 Y;��B ��)�
 f �"#$ 8��@

�����

)
 x� �#.�� �� �J�) f �$ ��/1� b�c '
∫ π
�
f(x) sinxdx = � � 89� 8Od� (�, π) �	 �?�& �� sinx *��� C�2

����� �4��
 ��?�& (��

+�)�
 C�#$�
∫ π

�

f(x) sin(x− x�)dx =

∫ π

�

f(x)(sin x cos x� − cos x sinx�)dx = �

∫ x
�

�

f(x)(sin(x− x�) +

∫ π

x
�

f(x) sin(x− x�) =

∫ π

�

f(x) sin(x− x�)dx = � ��"4. )
 �

���� [�, π] ���?�& )
 f ��J�) �a#� x� �0� ��B

e
∫ π

�

f(x) sinxdx > �DE ���� 8Od� �)���� x� �� ��� � YO; )
 f �0� [fA�

e
∫ π

�

f(x) sinxdx < �DE ���� 1>#� �)���� x� �� ��� � YO; )
 f �0� [<

�
∫ π

�

f(x) sin(x − x�)xd > � �� - ./ � �� � 8 O d � x� �� � � � � 1 > # � x� �� Y O ; f � 0� [S

e
∫ π

�

f(x) sinxdx > �DE
∫ x

�

�

f(x) sin(x− x�) > �

e
∫ π

�

f(x) sinxd < � YO; 8A�B ���J� '���� 1>#� x� �� ��� � 8Od� x� �� YO; f �0� [


�8
". ��QE C�3�� b��$g"� �$
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�) Cn �� &��� !� ��� (��4J"� ����"-� �U. )
 C ��) �)�
�� �� & !� C��#� �� �) Cn ������� ��

����� A = {(z�, . . . , zn) ∈ C
n : z�

�
+ · · ·+ z�n = �} ������� ��� �$ �"��"�

�� & ��� '���� S�� n = �m �$ 1��-#� �89� [n
�
] <��� �$ +"#$1� ��
� �����

V = {(w�, w�i, . . . , wm, wmi) : wi ∈ C}

�� & ��� n = �m+ � �$ 1��-#� �

V {(w�, w�i, . . . , wm, wmi,�) : wi ∈ C}

��#4
� <��H� 8"?�, ��)�
 [n
�
] ��� �� 1�� &���

)
 �� �J � n

�
��� 4 0)N � � � � �� Cn �� W �� & � �� g " � � $ + " # $ 8 �� @ 8
 " &� $ 5� O @� Y " �3 � ��� �

���� � 1 �� &� �� ( " #2 W � " # $ %�& �8
" . {(z�, . . . , zn) ∈ C
n : z�

�
+ · · · + z�n = �} �	 �����

'v = (b�, . . . , bn) � u = (a�, . . . , an) )�
�� �
 ���� ��#�� )
Z �u · u = � +�)�
 u ∈ W �� ���� (�����#�

[�u · v = a�b� + . . . + anbn

� = (u+v)·(u+v) = u·u+v·v+�u·v �H��) �� h�H� (�� �u·v = � +�)�
 u, v ∈ W �� ���� +"#$1� ��
�

+�)�
 ("#K�� �W ⊆ W ′ (�����#� �W ′ = {u ∈ C
n : u · w = �∀w ∈ W} +"�
1� )��; �
��1� ��"4.

5)�6#�� )
 '
�� �4&�0 �U.)
 W �� w�, . . . , wm ���E 8
"&�$Z dimW + dimW ′ = n

W ′ = {u = (z�, . . . , zn) ∈ C
n : u · w� = �, . . . , u · wm = �}

��/1� 89�� �O�) �" ; C
�� )�3� �� � ��/1� 89�� ��a�� n � �A
��� m 1H, ��-49
 !� (�����#�

�[ dimW ′ = n−m

��/1� 89�� W ⊆ W ′ C�2 ���

n = dimW + dimW ′ ≥ �dimW

�dimW ≤ n

�
DE


